
Entry 2 - Working with Whole Numbers  6371/E2

Name:

Complete the following questions. 
Remember to show your workings.

Adding numbers

Jack buys a DVD Player for £76 and an MP3 Player 
for £35. 

How much does he spend altogether?

 £ 

AC 2.1

 
Workings:

Amount spent:

1.        

On a school trip there were 45 students on one bus 
and 52 students on another bus.
 
How many students were on the school trip 
altogether?

 

 
Workings:

Students on the school trip:

2.        

In a car park there were 23 silver cars, 32 black cars 
and 12 red cars. 

How many cars were in the car park altogether?

 

 
Workings:

Cars in the car park:

3.        

In Ysgol Cymru there were 82 boys and 79 girls in 
Year 7.  

How many students were in Year 7 altogether?

 

 
Workings:

Number of students:

4.        


